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dH: 20z Mg 43
“#He: 2eks Jlg 20 (e &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
02 DIZtZAAMEE X 38,000 16,500 21,500
OsH s2U XA 33,000
— 2AE 50,000& *40AI 2 *110H S H 22,000
—JIXMH 2 S 1,000,000& *x110H = ™A 11,000
Oolx0s 23 435 5,000,000 5,000
04 QIZFSHAFAIRE 2 X 14,000 14,000 0
OXHEUEE AH(ESES) 3,000,000& x13] 3,000
OXHEUEE sA(2t2H) 2,000,000& *13| 2,000
OXEUEE HAHOIIEH)
1,000, 000& *9H &H x13] 9,000
F2NE XN L ANES 22 39,127 33,317 5,810
101 @1 21| 6,627 9,317 A 2,690
04 J|ZtH2ZXNEE S 6,627 9,317 AN 2,690
OEAL 22 60,2403 *1H %110 6,627
307 QI2t0| & 22,500 21,000 1,500
04 QIZHSHAFAIE 2 X 22,500 21,000 1,500
OczZHExX HE 3,000,000& x13] 3,000
O sdF== HE 2,500,000& x13] 2,500
OENMY =368 F2H 6,000,000& x13] 6,000
OAZ28d ==248g F2X 3,000,000& x13] 3,000
OZ2EHAM A8 H H & 2,000,000& x13] 2,000
O3+ A8 H H & 2,000,000& *13| 2,000
Oz=2948 82X 2,000,000& x13] 2,000
O&ATH HME 1,000, 000& *23] 2,000
401 AIEHIL 20| 10,000 3,000 7,000
01 A& bl 10,000 3,000 7,000
O UM ST (MY, EI E)
10,000,000& 10,000
N2 M g 20,500 17,000 3,500
307 QI2t0| M 20,500 17,000 3,500
04 QI2SHALAIE E = 20,500 17,000 3,500
OYHMEA 5,000,000& *23| 10,000
OJIEtA & 1,500,000& x7 4 4~ 10,500
50 2L R N 47,500 40,000 7,500
307 212t01 & 42,500 40,000 2,500
04 QIZHSHAFAIE 2 X 42,500 40,000 2,500
OSENELSAIH (8N J2H) 7,500
— gakakn 4,000,000& *13] 4,000
— otojskn 3,500,000& x13] 3,500
Ogn E=EF=ANKH 2,000,000& *20H A~ %x23| 8,000
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oot gtw g7 5,000,000& 5,000
ZE0e0l d=HAEE 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIE B & 15,000 15,000 0
OZdLHeol H3HAEEYE  15,000,000& 13l 15,000
Aelat 2stHH 25,000 20,000 5,000
307 gl2tol & 25,000 20,000 5,000
04 DIZHHALALSE E X 25,000 20,000 5,000
OXlelst 2stHH 25,000,000& x13] 25,000
CERARAEAAER KR 25,000 20,000 5,000
307 glz2tol & 25,000 20,000 5,000
04 QIZFHALAIH E = 25,000 20,000 5,000
OFJIIZH & SE83H 25,000,000& 25,000
s LE Bl AL X& 12,000 12,000 0
= 8,400
[ 3,600
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= 8,400
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s 900
MM ALY 90,000 80,000 10,000
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< 16,200
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= 36,000
& 16,200
= 37,800
02 QIZ2IA AAIE E X 90,000 80,000 10,000
o242 AY 90,000
— MM AFS 90,000,000 90,000
= 36,000
= 16,200
= 37,800
AN S0 S2AY 36,000 0 36,000
= 18,000
= 5,400
= 12,600
307 2Iz2t0| & 36,000 0 36,000
= 18,000
o=t 5,400
= 12,600
02 DIZHEAAIE E X 36,000 0 36,000
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fAH: S2st22 1
M 20z ds 2435
el 2aER I8 =i (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 23,600
S A 30,000 5,000 25,000
307 gl2tol & 30,000 5,000 25,000
04 DIZHHALALSE E X 30,000 5,000 25,000
ORXE Y ASHA 30,000,000& x13] 30,000
SEE A 30,000 5,000 25,000
307 glz2tol & 30,000 5,000 25,000
04 QIZFHALAIH 2 = 30,000 5,000 25,000
OHER Al 30,000,000& =13l 30,000
HIAE BEUE 15,000 14,000 1,000
307 21201 A 15,000 14,000 1,000
04 QIZFHALAIH E = 15,000 14,000 1,000
OdIAx ZEUS 15,000, 000& * 13| 15,000
gy Fuds 249 70,000 0 70,000
307 21201 A 70,000 0 70,000
05 BIZHRIE 3 70,000 0 70,000
Ogdruiis 29 70,000,000& 70,000
X 2235 & BE(XHA) 160,000 0 160,000
403 UHXHHSA=0l& 160,000 0 160,000
02 S 2S0CHet A= 8 2 & AL H 160,000 0 160,000
OUXE =2&XUd #Hat 160,000, 000& 160,000
Fod=0I8txd 3,841,000 350,000 3,491,000
Xl 1,531,000
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SURa A 0l A (EBxX) 3,826,000 0 3,826,000
Xl 1,531,000
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401 AIEHI L 2 CHYI 3,826,000 0 3,826,000
Xl 1,531,000
[ 2,295,000
01 A& HI 3,775,409 0 3,775,409
O=HIEXZ AL 3,775,409
—SLESE HEAY 3,775,409,000& 3,775,409
Xl 1,531,000
s 2,244,409
02 2eltl 40,397 0 40,397
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PSS ,817,184 2,999,792 817,392
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= ,936,814
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= ,297 ,554
= 571,696
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HEsH2el)
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== 159,410
= 295,990
401 AlEHIZL 2 0HY| 890,000 959, 000 A 69,000
= 623,000
== 93,470
= 173,530
01 Al&H| 839,395 930, 958 AN 91,563
O=2HIEBXZ A 839,395
—HEA MAESAHE BEHel £ =M A =]
51,672,000 =14 51,672
= 36,400
= 5,460
= 9,812
— SN2 DIOH YN A=A
381,581,000& * 14! 381,581
= 268,800
= 40,320
= 72,461
—watel AR XNY EE=XH
39,748,000 =14 39,748
= 28,000
= 4,200
= 7,548
—SHANE MY, 2, DA B
53,659,000 =14 53,659
= 37,800
= 5,670
= 10,189
— BN H2E8 4 203,112,000 1Al 203,112
= 143,080
== 21,462
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< 1,260
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—SAR SEUR(AE) 24 X2
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= 17,500
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2 4,712
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23,173,000& » 14! 23,173
= 16,100
= 2,420
[ia 4,653
02 Zeltl 45,316 22,000 23,316
O=BIEXZ ALY 45,316
—HANN HBEADA A2EY
11,530, 000& 14! 11,530
= 8,120
= 1,218
[ 2,192
— HEA 4SAHE JH AFXIA ZeES
17,887,000& 14 17,887
= 12,600
< 1,890
e 3,397
— S &2 OHHOIcH & A=A 2elEaY
15,899, 000& 14! 15,899
= 11,200
< 1,680
s 3,019
03 AIE 2 0H bl 5,289 6,042 AT753
O=HIEXZ AL 5,289
—2YNFSSW 24 839,395, 0008 +0.63% 5,289
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EUNLY
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OEHIEXAY 624,068
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23,000
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7,405
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— gl NI K224 B+ & =HE
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03 A2 2 0HHI 3,932 3,677 255
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—SXNE2IMN E+ 624,068 ,000& *0.63% 3,932

Mo
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HEAME WAL SXNE= 37,908 122,660 N 84,752
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fAH: S2st22 1
T BTN
S 2H2ATE N (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OYLSEEEa dIIes 300,000& x12& 3,600
OgHNE EEXNER HIIR=s
600,000& »12& 7,200
Ogzd 38 dIIe= 250,000& 1228 3,000
OHIHAIME 22ls dIIe3 400,000& x12& 4,800
OXeldt =2 st M3
300,000& »12& 3,600
OXeldt =B 2H0la=5 &IIRS
200,000& »12& 2,400
O=g&&X &ML= 13,200
—EFA= 700,000& *x12& 8,400
—-s23 300,000& 122 3,600
—MI = 100,000& = 12& 1,200
O A Aot=E AMEZ 250,000 «12& 3,000
O=s23 3229 dIIe3 300,000& »12& 3,600
O=23 SN2 2523 300,000& 128 3,600
OHESF=INE 2SR 300,000& 122 3,600
O=2&2ZX CCTV KA 4
800,000& »12& 9,600
Oot=HMelAld 2e(Z2d3SE SAHAME)
500, 0003 x20H 2 12 12,000
OxxH B dHAHR dot== 23
100,000& =122 1,200
OzXd & dIIe3 300,000& »12& 3,600
OXCIAHEE M E S HIIRS
500,000& »12& 6,000
302 OI=LTHOH E & = 3,000 3,000 0
02 QIZIITHOH R EFR &S 2L S 3,000 3,000 0
OBIZtoITH ol 2 &f 3,000
—ZZAE ADOEY XHel 3,000,000& 3,000
401 Al HI & 28I 322,304 151,080 171,224
01 A& HI 320,000 150,000 170,000
HBAEE SN 2el 320,000
—Hg=SdLoER] EAtE  20,000,000& 20,000
— TEOHHA HHI(3WA) 20,000,0008! 20,000
~EXQEWILY BIME B4 Y WG
& HEEM 40,000,000& 40,000
—dHE3 822 Z 100,000, 000& 100,000
—Zso=0ts & FHl 30,000, 000& 30,000
— o2 AE UM AMEES
50,000,000& 50,000
—EFQEHLH SUSAH(A0ITHOI)
30,000, 000& 30,000
—dEH ANEE B2 30,000,000& 30,000
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fAH: S2st22 1
a2
S 2H2ATE N (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 AlE 2 THHI 2,304 1,080 1,224
OsX&el 20l 320,000,000 *0.72% 2,304
405 TtabF S| 10,000 0 10,000
01 AL EFFH S 10,000 0 10,000
odEE 29 "3+ 10,000, 000& 10,000
N2 AHXA A AANSE A (RA) 62,000 600,000 538,000
201 et 37,000 0 37,000
03 A2 S HI 37,000 0 37,000
OXXA AMNZA =34 37,000
— =34 A F4I 27,000,000 27,000
— M & 10,000, 000& 10,000
301 et d s 25,000 0 25,000
07 2BI=& Kbl 15,000 0 15,000
OXXH AMSH =S4 AU H 15,000
— =8| 100, 0003 15 x4 » 104 = 6,000
— Al 50,000 «15H « 124« 101 =2 9,000
09 &AL HI B &S 10,000 0 10,000
OZXH AMBSH =34 S=HOILE 10,000
— A2 2 Al 10,000, 000& 10,000
AEFHIY 2L ALY 2,000,000 2,000,000 0
401 Al HIZ 201 I 2,000,000 2,000,000 0
01 A& HI 2,000,000 2,000,000 0
O FHIA 22 MY HAEX 01
250,000,000& 8Z Xl 2,000,000
22X N (s ZSXEHAL) 300,000 1,000,000 A700,000
X 150,000
< 45,000
s 105,000
401 A& HIZ 201 I 300,000 1,000,000 A700,000
X 150,000
< 45,000
s 105,000
01 A& HI 300,000 996,400 A 696,400
OXSZ A A 300,000
—=s3Z 2ZX ZHAY 300,000, 000& 300,000
Xl 150,000
S 45,000
s 105,000
A ZE FUE LA (XA 1,900,000 0 1,900,000
401 A& H L 20l 1,900,000 0 1,900,000
01 A& HI 1,900,000 0 1,900,000
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fAH: S2st22 1
M HFIE—NE
S 2H2ATE N (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJ2d 58 =48 24MY SA0Y
100,000& * 19,000 m* 1,900,000
22 AANY ZHISH 2l 20,350 20,350 0
201 £B-2dH| 20,350 20,350 0
01 At 22l 20,350 20,350 0
Ozg="g =8 200,000& »10AH 2,000
O2&gI =3 100,000& =100 X 10,000
OSJIEE =8 15,000& =100 X 1,500
OE2 S YL 2D 442
770,000& x5 3,850
OdEFHIY 22NLAY HUEX X2
3,000,000& =12 X 3,000
A8 2L ALY 246,764 457,760 A 210,996
401 Al HIZ 201 I 246,764 457,760 A 210,996
01 A& HI 245,000 450,000 A 205,000
OXeldtHedE E+ZAHEE 2 Z2XY)
150,000, 000& 150,000
odsotsxd 20,000,000 *20H 2 40,000
Ogami 823 2¢ 25,000,000& =14 25,000
OReA=I X ¢ |KXE= 30,000,000& 30,000
03 A& =2 THHI 1,764 3,240 A1,476
OJIEt & HI 245,000,000& *0.72% 1,764
HHI23 S ZHAY 3,509,450 0 3,509,450
401 AIEHIZL 20 3,509,450 0 3,509,450
01 A& Bl 3,500,000 0 3,500,000
OHHIZaE&d ZEAY 3,500,000, 000& 3,500,000
03 A& S THHI 9,450 0 9,450
OJIEEHI 3,500,000,000& x0.27% 9,450
SteZ3 3 ZEAY 83,000 0 83,000
401 Al HIZ 201 8] 83,000 0 83,000
01 A& HI 83,000 0 83,000
OBLPTR ZHMY BATHNE 2H (B
) 25,000,000& » 14! 25,000
OB 2T ZAAMY ANEH 89
30,000,000& » 14 30,000
OB P2 LAY SAYSBIH(BY)SY
28,000,000 » 14! 28,000
HEES MEgSsd HAAY 1,000,000 0 1,000,000
Xl 300,000
< 90,000
e 610,000
401 Al HIZ 201 8] 1,000,000 0 1,000,000
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=

R M
0K Of tou
A

=]

[o o o
2
e

AHE (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 300,000
< 90,000
= 610,000
01 A& HI 993,739 993,739
OXNSE3 A A 993,739
— NS MESSE HAAY
993,739,000& x 14 993,739
Xl 300,000
< 90,000
s 603,739
03 Al 204 6,261 6,261
OXSZ A A 6,261
—HNSE3 HMESSE HLA
993,739,000& *0.63% 6,261
ASEHNL (S 428 FE== IHRII) 140,000 140,000
Xl 98,000
< 13,000
s 29,000
401 A& HIZ 201 I 140,000 140,000
Xl 98,000
< 13,000
fia 29,000
01 A& HI 140,000 140,000
OXSZ A A 140,000
— =32 geg BEsE iR
140,000, 000& 140,000
Xl 98,000
< 13,000
s 29,000
gt A28 Zol 7,459,930 1,157,083
Xl 1,000,000
J| 151,883
< 59,465
[ia 6,248,582
o3 XA 1,864,058 598,712
J| 151,883
< 59,465
s 1,652,710
HEUa & AKX 63,260 50,940 12,320
201 Let2d] 4,260 840 3,420
01 At 2t 2l 4,260 840 3,420
OMSEA 2H 2572 S 3,000,000 3,000
OMSEA HF =& E2X =2l
7,000& x3H +60 1,260
202 ¢4l 4,800 4,800 0
01 = LH 4 Hi 4,800 4,800 0
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fAH: S2st22 1
MM MSS S8 AL 20
2 Mg 243 XN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAZ MU A &It L g o2
80,000& x5 12 4,800
301 et 8= 7,200 4,800 2,400
09 SALAHIEA S 7,200 4,800 2,400
OAZE M=sUsal &It 24
60,000& 30 43 7,200
307 gl2tol & 47,000 40,500 6,500
04 DIZHHALALSE E X 47,000 40,500 6,500
OZd =.2gd Szl &8
7,000,000& x13l 7,000
OogtdZH=Es Tt MU sd
800,000& 258 = 20,000
Osgtn MEHSAE ASXR
12,000, 000& * 13| 12,000
O&% Zoel HNoE=EUE &H
1,000, 000& *12] 1,000
O T MaHsUz &=d
7,000,000& =13l 7,000
H=CHd X 92,000 80,600 11,400
307 21201 A 92,000 80,600 11,400
03 2IAHHEE2IHIES 92,000 80,600 11,400
OgfedZH=a A= 29l 80,000,000& 80,000
OggzHd<ss NEX nsSH K&
100,000& 108 122 12,000
AZXAHN0IEH XS 34,062 28,196 5,866
J| 23,843
< 3,066
s 7,153
307 glz2tol & 34,062 28,196 5,866
J| 23,843
< 3,066
fia 7,153
05 RIZHRIE 3 34,062 28,196 5,866
OJIgEx=Ag 34,062
—AEX AE 0EH ALY 34,062,000 34,062
J| 23,843
< 3,066
[ia 7,153
HEAMMEMNSXZI BIX(2SXA) 102,432 102,432 0
J| 51,216
s 51,216
307 gl2tol & 102,432 102,432 0
J| 51,216
i 51,216
02 IZtE S AHE L 102,432 102,432 0
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St
H=s s& 228 =2
s gdst X

= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
OJI2EXAY 102,432
— 024 NsgEs N
2,134,000 x4H 123 102,432
| 51,216
[ia 51,216
ULHMEHYFXCX BHX(2SXA) 153,648 153,648
| 76,824
e 76,824
307 21201 A 153,648 153,648
| 76,824
e 76,824
02 QB AANGFEX 153,648 153,648
OJIa =AY 153,648
— MM MENSXNA XA
2,134,000 x6H 123 153,648
| 76,824
s 76,824
MEHSWA 29 (%48l) 12,096 12,096
= 3,628
s 8,468
307 21201 A 12,096 12,096
< 3,628
i 8,468
02 It S AIHE L 12,096 12,0906
OEHIEXZAY 12,096
—MEHSNA 2 (120 4) 12,096, 000& 12,096
< 3,628
s 8,468
MEHS L FHAKS BS A (TH) 9,668 9,642
< 4,834
[ia 4,834
307 21201 A 9,668 9,642
< 4,834
[ia 4,834
02 LAFAAFEX 9,668 9,642
OEHIEXZAY 9,668
— MU |4 8,000,000& 8,000
= 4,000
s 4,000
—ZMAMss0tel K& 1,668,000 1,668
S 834
s 834
MEHE TR0 29 (THl) 9,792 9,792
= 2,937
s 6,855
307 gl2tol & 9,792 9,792




EX: S22
MM MSS S8 AL 20
2 Mg 243 XN CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 2,937
= 6,855
02 QIZ2IA AAIE E X 9,792 9,792 0
OZHEXZAY 9,792
—MEHE T2 XH 9,792,000& 9,792
= 2,937
= 6,855
S RAFE 82 MAATEHAUSE (ZHI) 90,000 90,000 0
= 30,000
= 60,000
307 2Iz2to| A 90,000 90,000 0
= 30,000
= 60,000
04 QIZ2tSHAFAFS B X 90,000 90,000 0
OEHEZAY 90,000
— BAG XA &2 M= AFATINE S
90,000,000 *13l 90,000
= 30,000
= 60,000
2O M= 100,000 100,000 0
307 gizto| A 100,000 100,000 0
04 CIZ2tSHALALS B = 100,000 100,000 0
OZ2H=0Ha 100,000, 000& 13| 100,000
TOoOH=UZ 240,000 200,000 40,000
307 2I2t0| ™ 240,000 200,000 40,000
04 SIZ2HSHAFALSHE E X 240,000 200,000 40,000
OEoM=sg &8 XA 240,000,000& *13] 240,000
ME=UH=E=AN X 95,000 70,000 25,000
307 2Iz2t0| & 95,000 70,000 25,000
04 SIZ2HSHAAISH E & 95,000 70,000 25,000
Odadxr MeEdsdtsd™ I A&
95,000,000 13| 95,000
HEN M= 43t 134,100 60,000 74,100
201 et d| 22,000 22,000 0
03 A2 EH| 22,000 22,000 0]
OLQHoIEENa MHE(SHUE)
2,000,000& 111 S H*13] 22,000
301 et A= 2,100 0 2,100
09 #HAIAHI BEAZ 2,100 0 2,100
OZYHOIE=E3 =z ZUa &It
2,100,000 2,100
307 QI2t0| ™ 110,000 38,000 72,000
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fAH: S2st22 1
MM MSS S8 AL 20
2 Mg 243 XN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 110,000 38,000 72,000
O &l ANoEESHE 10,000,000& =13l 10,000
OL2ANOIE=EUSE 10,000, 000& 13| 10,000
okl det2E=Z0g 10,000, 000& 13| 10,000
Ok etec2ZHa(SEHUsl)
1,000,000& 11 S & 11,000
OZg W4 JAHoE=2Hza 20,000,000 20,000
OgtdZ==tf HOIE=CHal  10,000,000& *13] 10,000
Ozt dete& X3
10,000,000& *13l 10,000
OXeldtd dsd LAHESUE
24,000,000& 13l 24,000
Ogdzti MaAa==ZHal 5,000,000& =13l 5,000
H=o |4 125,000 0 125,000
307 21201 A 125,000 0 125,000
02 QIAFAAFEX 15,000 0 15,000
Oko H=sna 249 5,000,000& 5,000
Ogut= H=sna 29 10,000, 000& 10,000
04 QIZFHALAIH B & 110,000 0 110,000
O Atx=Hi & =0L0tHI=CH S 90,000,000& 90,000
OogtdzZolbt= 3l 20,000,000& 20,000
StNHE ¥ Rsds dE=Ed 28,000 28,000 0
307 glz2+ol & 28,000 28,000 0
02 QIZtE A AHEE 28,000 28,000 0
OSDAS L 2444 HBSY
3,500,000& x8& = 28,000
gAZHE3 2 HIE MSHH 4 55,000 25,000 30,000
307 glz2tol & 55,000 25,000 30,000
04 QIZFHALAIH E = 55,000 25,000 30,000
OgdzZH=s 2 ds3ld MsSA N2
1,000,000& «25& = 25,000
OAEZ= 28 & MsEH 84 N
2,000,000& 158 = 30,000
Scl g0t 6X ERE>= 4 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OIS0 =2 HAESsS aAHd =320
3| 15,000, 000& 13| 15,000
223 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 DIZFHALALSE E X 10,000 0 10,000
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2AMd: 2322
Hu: Hs2 S8 AYs 20
2 Mg 243 XN (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ozt SZHE 10,000, 000& 10,000
H=E70H3E 20,000 15,000 5,000
307 glz2+ol & 20,000 15,000 5,000
04 QIZFHALAIH B = 20,000 15,000 5,000
Ogtedz=tf d=&-0s 20,000,000&*12] 20,000
E10U3 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIR B = 10,000 10,000 0
ogdz==tl =203 10,000, 000& * 13| 10,000
d=HL AN 20,000 20,000 0
307 2201 A 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
OSdl&ot= &= HLAUSE
20,000,000& =13l 20,000
=2 NEUSE 10,000 0 10,000
307 giz2+ol & 10,000 0 10,000
04 DIZFHALALSE E X 10,000 0 10,000
OF4Hg0l Z2UMNEUS 10,000, 000& 10,000
Bl 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
Ozt 5203 20,000,000& x13] 20,000
o AZZ IS 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 QIZFHALAIH E = 10,000 0 10,000
Oz AH22IU3 10,000, 000& 10,000
B S 3l 170,000 15,000 155,000
307 21201 A 170,000 15,000 155,000
04 QIZFHALAIH B = 170,000 15,000 155,000
Ozt XNeldtd BHEAZ el
20,000,000& x13] 20,000
O2018F d=4d AL =8+ 82 B2
T 3l 150,000, 000& 13| 150,000
HHEQIE S 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
04 QIZFHALAIH E = 10,000 10,000 0
Ogd=2=ti BHERIE M=l  10,000,000& 12| 10,000
A= OHAHE 435 60,000 50,000 10,000
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fAH: S2st22 1
MM MSS S8 AL 20
2 Mg 243 XN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 60,000 50,000 10,000
04 DI2HHALALSE E X 60,000 50,000 10,000
OsctH dX&Ed FAU(FR HUA BHAZ)
60,000,000& 60,000
A= & OtetE el 50,000 0 50,000
307 21201 A 50,000 0 50,000
04 DIZHHALALSE E X 50,000 0 50,000
Ogtarstsr M= OtetE el 50,000,000& 50,000
St=24¢Y HUA 203 (=dl) 80,000 80,000 0
< 15,000
= 65,000
307 glz2tol & 80,000 80,000 0
< 15,000
s 65,000
04 DI2HHALALSE E X 80,000 80,000 0
OZHIEx= AL 80,000
—e=4g HLUA AU
80,000,000& =13l 80,000
< 15,000
[ia 65,000
=350 =73 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH B = 10,000 0 10,000
Oggz=tl 8= 52 =s7U3
10,000, 000& 10,000
SHSEE 28 X 20,000 0 20,000
301 et a = 20,000 0 20,000
09 HALAHIE& S 20,000 0 20,000
OsHszd 28 X 20,000
— A 0 80,000& »1300H 10,400
— XNEUH,AHl, E”ES 9,600,000 9,600
=2S03 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 QIZFHALAIH B = 5,000 0 5,000
OHeetgr 42 e == 5,000,000& 5,000
HsAE 29 959,863 900,629 59,234
HEAE SR 2t 20,965 20,965 0
201 Let24d] 6,100 6,100 0
01 At 22l 6,100 6,100 0
O&dl Xt 2,200
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2N S22
M JRe S AL 20
S M=FANE 29 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— EgH 600, 000& *23| 1,200
— AL 100, 000& *5CH 23] 1,000
OM=SAAE 2ZelEZE M2 60,0003 *55x34 A& 900
OM=sza 85 uX 150, 000& *20H 3,000
206 M = Hl 14,865 14,865 0
01 = bl 14,865 14,865 0
OMEAE F=HEY| 2,015
—WHFHINS FEH 2,100& 8004 1,680
—WFIOIsS 2< 5,000& x40 200
—WFIN S 3,000 *4504 135
ogd & A=H ¢ 60,000& x5 *501 & 1,500
O&Cl el EHPY(BE2sSE 2 3MA)
4,000& *500E 23| 4,000
OxCl2e 2P (seesd 2 37H.+_)
350,000& *15CH *13] 5,250
O&f e sAPUY(BE2SH 2 3MA)
5,000 »60H 33| 900
O&Cl2&e HEIY(BE2SH 2 3MA)
10,000 *60 I 23| 1,200
MEAIE 2922 172,232 149,288 22,944
101 2121 4| 18,072 15,528 2,544
04 J|I2ZtHZ2E2XNSE =+ 18,072 15,528 2,544
OMSAIE sZBHH (BE2sE 2 7HA) 18,072
— 833l 60,2403 x5 x30 9,036
— &l 22 60,2403 x5H x30 9,036
201 et A | 154,160 133,760 20,400
01 AFR2 2t 2l Yl 8,760 8,760 0
Oget=gH| 8,760
—I=sH(HAE ) 150,000& 2 *23| 600
~SHA HEN L BLBE 7Y
120, 000& *4JH A~ *63] 2,880
—HEM HACT L IR P
45,000& *4H A~ *63] 1,080
— 201 42 (DSMds2)
350,000& x12& 4,200
02 3524l 145,400 125,000 20,400
O332=2 % HA 145,400
—AYOIEAA U HUHY 4,440
LSS 130,000& =123 1,560
Ao =2 130,000& *123] 1,560
SANOE=ZFE 110,000& *123] 1,320
—MIR23 112,200
sg2sd 1,500,000& x12& 18,000
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AN 23220

M JRe S AL 20
Sl HSAE 2% (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2

N2Ms2 1,800,000& x12& 21,600

At =2 700,000& x12& 8,400

MENssE 1,200,000 201 A~ %12 28,800

B g 750,000 *12& 9,000

SANOE=ZRE 300,000& x12& 3,600

SAIH(SHEH) 100,000& = 12& 1,200

=32 H 100,000& = 12& 1,200

te2sd 100,000& *12& 1,200

MNaCsSEAs2 100,000& = 12& 1,200

HEEs ERE 1,000,000& *12& 12,000

el gslpriE=Senyl 500,000& x12& 6,000

R = =1 150, 000 & *5 A~ x 128 9,000

— NIt BA =5 9,360

LA 480,000& 42 J| 1,920

Sg2sd 480,000 x4 2 J| 1,920

sgaMeEtssd 480,000& 42 J| 1,920

A =2 900,000& x4 2 J| 3,600

— 33X B =AHE 5,000,000& 5,000

—S&8J |80 1,500& %204 *2J A %90 5,400
S0 FHE 292 766,666 730,376 36,290
101 @121 384,414 356,356 28,058
04 JI2ZtHI 22 XNEE 384,414 356,356 28,058

OZAH(=Y , 8A) 213,811

—-J|I=23 76,9503 x5H %250 96,188

PN 76,950& x5 52 20,007

— X< 76,950 x5 x 12 4,617

— A2t &= 15,000 x5 22 Al 2tx 12 19,800

—SAXNEX 22 10,000& 1 249 2,490

— XN XS 20,0002 x4H 250! 20,000

—F5d4 115,400 x5% 10! 5,770

—-d&5x< 10,000& x4 200 8,000

- S&d=Y 20,000& *2H x50 2,400

— & &3 179,282,000 x1/12& 14,941

—=a0AZEEE 179,282,000& *4.5% 8,068

—0AAEEZ 179,282,000& *3.06% 5,487

— &I RYEEES 5,486,000& *6.55% 360

— 1288 = 179,282,000& *1.5% 2,690

- MBS S 179,282,000& *1% 1,793

— IS (=Z2A ) 300,000& x4 1,200

O2e| & (ot , & AL 135,215

—-JI=23 60,2403 x*5H 250 75,300
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2AMd: 2322
M M8 S8 A28 =20
Eel MsAE 29
SA BB O () - MM - HES 0l &+ o4 il
— == 60,2403 x5 x52 15,663
—HxX=g 60,2403 x5 x12 3,615
— Al2tel g 11,3003 «5H #22 Al 2t 128 14,916
—Re2R=E 90,3603 x5 10 4,518
—EAZ 114,011,000& 1/ 12€ 9,501
—=0HgEE=z 114,011,000& *4.5% 5,131
—IRAHLEERE 114,011,000& *3.06% 3,489
-V QYBEZ 3,500, 000& *6.55% 230
—Ng8Ee 114,011,000& *1.5% 1,711
MHEE S 114,011,000& * 1% 1,141
ogzeld 35,388
—Jlas 63,2503 x 1 x246 15,560
—F==Y 63,2503 x 1«52 3,289
—Qx=g 63,250 x 1 12 759
—Az2telsg 12,0003 » 1 x40A| 2t+ 128 5,760
—FYU2RE 94,9003 x1H 10 949
— g4 40,0003 x1H x12& 480
— Y=g 250,000 x 18 128 3,000
= 30,050,000 *1/12& 2,505
—=0HZ3EER 30,050,000& *4 . 5% 1,353
— AL BER 30,050,000& *3.06% 920
—&IRYEER 920,000 *6.55% 61
—nN888= 30,050,000& *1.5% 451
— M EEZ 30,050, 000& *1% 301
201 B2l 333,202
01 At 2t 2|l 50,352
Oget==EH| 50,352
— SAI AXt 286,000 x12& 3,432
—gfdgs sME 10,0008 *15CH * 122 1,800
—sape TEIY RNEL 2o
500,000& »12& 6,000
— &0 Xt 60,0003 x6CHx128 4,320
— = &l 7,000& x5H »20 700
— MBS A2 300,000& »12& 3,600
—&d3AEF 300,000& *63| 1,800
— MIHl 100,000 20 A 2,000
—d==5 X 50,000& »128r A 600
—3EA SEX 60,0002 60 A 3,600
- 301& 15,000 30 A 450
—=7E3 500,000& 500
—-E2=2 M 500, 000& *42| 2,000
—ANRE HE 80,000 500K 4,000
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2N S22
M JRe S AL 20
Sl HSAE 2% (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— EolAl JIME 3,000& *5007H 1,500
— ST Y == 2 3,500& *300kg 1,050
—MNIEE 3 200,000& *5& 1,000
—JIEZNN ==& 1,000,000& x12& 12,000
02 35244l 282,850 284,850 A 2,000
O332=2 2 HA 282,850
—MIR23 5,500,000& x12& 66,000
-3 4,500,000& x12& 54,000
— 24 (JtA) 1,400& x7,200kg*12& 120,960
— &Moot 842 550,000& «12& 6,600
—SYINUEEH Ed 2 150,000& *12& 1,800
— Aot 89 350,000 x12& 4,200
— Py XEL 228
200,000& 20 = 12& 4,800
— 22 LA =25 100, 000& *2CH 200
—AUFHUBH =22 1,000,000& 13| 1,000
— 2 Y%E 3l 45,000& *23] 90
— 82N =& 50,000& *43] 200
—Ma=x E3a4 29 1,000,000& *x23] 2,000
—=XelAlE W A 10,000,000 *13] 10,000
—22 Fa 29 20,000& 250 m* 5,000
— S A WX 6,000,000& x13] 6,000
206 TH 2 HI 15,050 16,050 A1,000
01 M= bl 15,050 16,050 A 1,000
OgAagMy A2 2 16,0003 *400 &£ 6,400
sy FaMd 2 35,000& x50 1,750
OSSN 7 50,000& *30H4 1,500
OPHZ A H ¢ 100,000& x20& 2,000
OMEdZyHy ¢ 6,000& *300H4 1,800
O3ZXJ] HUEH F¢ 800,000& *23| 1,600
401 Al HI L 2T 26,000 28,000 A2,000
01 A& HI 26,000 28,000 A 2,000
O3UMSHE =XE &
6,000,000& x 14 6,000
O AN B2 20,000, 0003 *14] 20,000
405 XtabF S| 8,000 6,600 1,400
01 AL 2B F SHI 8,000 6,600 1,400
OEXHA B 2 8,000,000& =1CH 8,000
HM=EAIE EH| 4,636,009 4,136,872 499,137
Xl 1,000,000
= 3,636,009
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fAH: S2st22 1
MM MSS S8 AL 20
S MFAE FH (9 ® =)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HsAE &5 2 1,039,772 221,872 817,900
401 Al HI K 201 I 953,772 213,872 739,900
01 A& Bl 950,000 212,000 738,000
OHSAE SNES L 472 24
5,000,000 *100H & 50,000
OnN2AH=sZ ZHAY 40,000,000& 40,000
OERE, HOESE ANEE2AY
40,000,000& 40,000
OaUH==ZE AMEE+ At Y 40,000,000& 40,000
oeletel AHOER Ex HI{ 50,000,000 50,000
OddH=s2 FHAY 20,000,000& 20,000
OKNOIH=33 Fd A 30,000,000& 30,000
O0ENEZ2d =EE ZHIAY
150,000, 000& 150,000
ONEANOIEESE HE8Md 400,000,000& 400,000
Ol 23717 &X 20,000,000 =34 2 60,000
O¢te] AX=TIE F2A2HE Z2H(HE)EZR
70,000,000& 70,000
03 AlE 2 THHI 3,772 1,872 1,900
OJIEFE HI 1,047,580,000& *0.36% 3,772
405 TtatF S| 86,000 8,000 78,000
01 &L ESFHSHI 86,000 8,000 78,000
Oggrdsa dAJ2 ¢ 7,000,000 7,000
Og2AHESH &EEHH & 6,000,000 6,000
Oocro|daxssa 588 g
10,000, 000& 10,000
OlLl2Ms2 GEZ2HE 2¢ 7,000,000 7,000
Odd=zs =37 &34 ¢ 6,000,000& 6,000
OSL42sd sE&0E H=EJIAH ¢
50,000,000& 50,000
BYATX M3 XA 1,096,237 855,000 241,237
401 Al HIZ 201 I 1,096,237 855,000 241,237
01 A& HI 1,090,000 855,000 235,000
OAN=SIISTAES 100,000, 000& 14! 100,000
oged=sdd A 990,000,000 =14 990,000
03 A& 2 THHI 6,237 0 6,237
Oogd=sdd A8 JIet3 |
990,000,000& *0.63% 6,237
MEHSTATLNR(BYATZNT £4) 2,500,000 3,000,000 A 500,000
Xl 1,000,000
[ia 1,500,000
401 AIEHI L 20HEI 2,500,000 3,000,000 500,000
Xl 1,000,000

_40_




EX: S22
MM MSS S8 AL 20
S MFAE FH (9 ® =)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
o 1,500,000
01 Al&H| 2,491,032 2,540,820 N49,788
OXSEg AHANLY 2,491,032
— S UHALTXIOIE LAY
2,491,032,000& * 1Al 2,491,032
Xl 1,000,000
= 1,491,032
03 A& 20| 8,968 9,180 AN212
OXNEZHANZ 8,968
— St ATIROITY LAY
2,491,032,000& x0.36% 8,968
SHAE A AH| 97,234 85,344 11,890
JlE&dl 97,234 85,344 11,890
Jl2&Hl 97,234 85,344 11,890
201 et d| 50,134 41,244 8,890
01 A2t 2| bl 50,134 41,244 8,890
OBANEH 1,831,000& x22%H 40,282
Ol 4,620
— E204H| 7,000& 22 30 4,620
O=S A Xt 5,232
— A=A 286,000 x1CH*x12& 3,432
— EWE A 150,000 1L~ 12& 1,800
202 044 42,900 39,900 3,000
01 2L HI 42,900 39,900 3,000
O2LH O bl 100,000& 222 x12& 26,400
O22 o H| 75,000& %22 %10 16,500
203 € R =& 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
OFRMNSI YR 350,000& x12& 4,200




